KYWR_METHASFEEE RS

(i3 -
ARAEFEFELOENDOBIEERKRZ )

AR R ZEERE T RRYR

B.JH A A J5 AT R B AT (9 77 ¥ 05 1 AR i R AR 2
C.ZBREB AR IR, PIE AR S R AN R N
DJEM AT B8, B, JERREENA M EER

2. P

WET, THSHEABETFEREBRT R KEXEFENRZ( )
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B. MnO4=&2FMH, Fe3*RIEJE=Y

C. EMFFHE FE YRR RS5:1

D, A% 1 molKEY, #3£2)5 molfF

S kRS

THERRNEEASFIEARSERKZ O

A EIRT, WRFAEEBRPpH<7, IEA—KESEHR§EM: NH4+ +2H20=NH3-H20+H30+
B. HESMWABEBREFEM PR RE: 2A1+H20H— +2H20=2A102— +3H21

C. FIBRBRE N MR B K B R P R 2k

VIH L
_,plxj,l THE] ,.11\“, R4im
+2HCO3-— L\;;J +2H20+2C021
D. SRR IV B R 2MnO4— +16H+ +5C2042—=2Mn2+ + 10C0O21 +8H20

o

6. R -
THIA R Y% IE# R =2
A. BHIHI(g) == 1/2H2(g)+ 1/212(s) AH=—26.5kJ-mol—1, HIEAT %11 mol HI'S AR 7E 55 [H 25 8%



